s e FRIMALE
BEH 8,100 8,100 8,100 8,100 32,400
BARR—YiRECHFHE 880 880
14 |PTASE 2,000 2,000
ERE=E 1,250 1,250
REE 10,000 10,000

Rig 15,000 15,000 30,000|

&t 22,230 23,100 23,100 8,100 76,530

FEEMALE
E 8,100 8,100 8,100 8,100 32,400
BARXR—YIRAECHE#E 880 "~ 880
2% |PTARE 2,000 2,000
EERE 1,250 1,250
HFEE (1RME5900ME) 10,000 10,000
Biug 15,000 15,000 30,000
&t 22,230 23,100 23,100 8,100 76,530

) 1% 2853 3% ams E,m AEE
=EH 8,100 8,100 8,100 8, 100 32,400
BARRR—YIRECHLFHE | 880 - 880
3 |PTARE 2,000 2,000
ER=E 1,250 1,250
FEE (R£3350MF) 13,350 13,350
Bius ' 20,000 20,000
&t 25,580 28,100 8,100 8,100 69,880

. FEEMALE
REH 8,100 8,100 8,100 8 100 32,400
BERZR—ViRECHEFHE 880 880
a5 |PTASE 2,000 2,000
k=B 1,250 1,250
Y3 10,000 10,000
Big . 0
g 22,230 8,100 8,100 8,100| 46,530




